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The constraints faced designing this practical:
· We have 100-150 students in each lab. 
· Our labs are 3 hours long. Most finished the whole practical in this time but next year I’ll make it shorter to make sure demonstrators have time to mark the practical. You could also do the video without the practical exercise or vice versa. You could also get them to watch the video at home.

Equipment:
· Charles Darwin and the Tree of Life – This is a great BBC documentary with Sir David Attenborough discussing Darwin’s life and the theory of natural selection.
· Scissors (one per pair works but a pair each is better)
· Two Petri dishes per pair
· Forceps per pair
· Coloured paper. Each pair of students needs 4 pieces of paper (2 in one colour, two in another colour). The colour is unimportant but a variety makes for a more cheerful lab!

Things to tell them before/during/after the practical:
· I repeatedly emphasized the meaning of “fitness”. I’ve found that most undergrads misunderstand the concept. I always talk about passing genes into the next generation in lectures but occasionally forget and use fitness as shorthand so I’m glad to have this chance to clarify.
· I also think it’s important to talk about the individual fitness being the key thing here. This helps me in later lectures on living in groups and eusociality.
· Some of the students got confused and thought the different colours were different species. It’s worth clearing this up at the start.
· Some students found working out how to fill in the tables difficult. I’ve added an example to the handout here. Make sure the demonstrators understand beforehand!

Answers to the MCQs:

1. a
2. c
3. d
4. e
5. a
6. a
7. e
8. b
9. c
10. d

Answers to the practical exercises:

1. In theory the number of paper creatures of the same colour as the background should have increased.
2. The paper creatures are the population of small organisms, the student with forceps is the predator, picking up the paper creatures is predation, reproduction occurs when they replace the removed paper creatures.
3. Anything sensible – birds feeding on beetles, sharks feeding on fish. You could also apply this to pollination where the forceps picker is a pollinator (though the selection pressure would be reversed as flowers need to be noticed to get pollinated).
4. Currently there is no inheritance of traits, the number replaced is evenly split between the two colours.
5. No, and no. Variation is essential for natural selection. 
6. Should be the same as #1
7. This should happen faster because the survivors “breed” more.
8. The selection pressure is reversed so you should start seeing the opposite pattern
9. There would be selection towards the third colour, so there should be approximately equal numbers of colour 1 and colour 2 being removed.
10. Anything sensible. Really this applies only to sit-and-wait predators consuming non-moving prey items. Usually prey are moving and so is the predator.
 

